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= X £ FE SH2EE F E i & (B A H ) 1,919,500 M
= 4% F 5 % 33 £ (52-101200-0014) P E MK (A AL E OB 1,745,000 H
£ ® % HONEE (IR REEHEERR B & % B i % (R A H ) EREEL
£ K B HEDHSETYR BRI #hKN BIEFIRMS (AL E LB ) EREEL
A# % A A 40246 H238 HiExiE BB RETOM X5E AT HITYHET
NO s wgE  |a—r[—BEA [ BRI fi E
1[FAREE (%) WA RE 1,740,000 8
2| KFEER (¥R) THR f#F 1,680,000[ 3
3| (Bk) LEFiRE% L% #— 1,480,000 1 &L
JEREEEE BE T 1,700,000 4
5| (B)MTHIEE R EFR 1,700,000 4
6|EEH(H) =S 1,700,000 4
(B EILER il =& 1,650,000 2
8| (B)EH IS e B= 1,700,000 4
I(EEAEE BA == 1,740,000 8
10|&FILESR =L Bk 1,745,000 10

F) RERMERNI-KYEILRE BN RS
(AAL£%E 1480000 x1.1= 1,628,000 %iL£%8) HERRUHAHEROE 148,000/




B

#l

| =

B=
= X £ FE SH2EE F E i & (B A H ) 1,876,600 M
= 4% F 5 % 34 £ (52-101200-0015) P E MK (A AL E OB 1,706,000 F
£ ® % HONERE QIR REEHEERR B & % B i % (R A H ) EREEL
£ K B HEDHSETYR BRI #hKN BIEFIRMS (AL E LB ) EREEL
A# % A A 40246 H238 HiExiE TBRETOM %7E AT HITYHET
NO e rEE  |a—F ’i‘g*“ — %&'”L = i =
1| (%) BTG A IEM 1,690,000( 6
2| (B) k#HTILE—H XA E— 1,700,000 8
3| R (%) o x4 1,687,000 4
4| (B)BEMEEE B 1E 1,689,000 5
S5|E & BE T 1,685,000 1 &L
6|-L¥IEEE (F) iR =% 1,690,000 6
UE3:54¢ED =S 1,686,000 2
8| (B)EAER BA == 1,700,000 8
9| (BR) BRTEREE HITFYUXE BA &% iR
10|&FILESR =L Bk 1,686,000 2

F) RERMERNI-KYEILRE BN RS

(AfL%%E 1,685000M x 1.1=

1,853,500 % #L£%8)

HERRUMAHERDERE

168,500




